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About measurement

explain(analyze, buffers)
select * from pci patient

Seq Scan on pim individual
(cost=0.00..159245.33 rows=2997433 width=472)
(actual time=0.010..9474.985 rows=2998693 loops=1)
Buffers: shared hit=31204 read=98067

Planning time: 0.363 ms

Execution time: 9683.454 ms




Query 1

FrEYNNa KOMIOAHMI

’.: PT/1a6b¢c

SELECT
ssrr.id,
gsrr.appointmentId,
case when ssrr.appointmentDate::date = now()::date then true else false end,
ssrr.appointmentDate, now(), ssrr.bdate, ssrr.bdatetime, ssrr.patient_name, ssrr.appointmentState, ssrr.patient_id, ssrr.ticket_number, ssrr.patientCome, ssrr.serviceName, ssrr.sourcelame, null, ssrr.citoBadge,

‘rem. ' ||
coalesce ( (select value from pim indiv contact pic2 where pic2.indiv_id = ssrr.patient_id and is_main = true and picZ.type_id = 2 order by pic2.id ASC limit 1),
({select value from pim indiv_contact pic3 where pic3.indiv_id = sarr.patient_id and pic3.type_id = 2 order by pic3.id ASC limit 1))
, Ssrr.zppointmentStateColor, ssrr.isState, ssrr.isHouseCall, ssrr.resourceGroup id,
(select mp.id from md profile mp where code='1'}),
case (select count(*) from table t where t.id = ssrr.patient_id) > 0 then true else false end,
(select mct.id from mc_case_type mct where code='1"),
s . L .
(select srgg.d
'

3srr.createCasg Exe Cutj_ On time : 2 5 2 5 3 8 - 2 7 6 createCase_serviceRenderedFatientId,

sarr.createlag

NI/0 Timings: read=184174.054
fBuffers: shared hit=1300418 read=2277211

d, ssrr.serviceRendered resGroupld,

2.id AS appointmentId,

a.bdatetime AS appointmentDate,

coalesce (s.bdatetime, sf.bdatetime)::date AS bdate,
to_char(s.bdatetime, 'HH24:MI') AS bdatetime,

concat ws(' ', i.surname, i.name, i.patr_name, '(' || to_char{i.birth dt, 'DD.MM.YYYY') || ')') AS patient name,
(case when a.state_id = (select id from md appointment_state where code = 'RENDERED') then 'Oxasana’

else

(case when a.queue_state_id = (select id from md appointment queue state where code = 'WAIT') then

'OsngacT'

when a.gueue_state_id = (select id from md appointment_ gueue_state where code = '"CALLED') then 'Busean'
when a.gueue_state_id = (select id from md appointment_gueue_state where code = 'HOT RECEIVED') then 'He mBunca’
when a.state_id = (select id from md appointment_state where code = 'CANCELED') then 'OTueneHa’

else '’

and)

end) AS appointmentState,

i.id AS patient id,

a.ticket_number AS ticket_number,

{a.queue_state_id != 4} as patientCome,

ser.name AS serviceName,

ap3.name AS sourceName,

a.registration_dt AS registration_dt,

f.name AS fundingName,

srg.responsible id AS employeePosld,
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Query 1, lack of code style

SELECT

s.1d AS 1d, coalesce(s.bdatetime, sf.bdatetime)::date as bdate,
(select mp.id from md profile mp where code='1l') mp

, (case when s.1s main = true then true else false end) 1s mailn

from sr session s

JOIN sr shift sf ON (s.shift id = sf.1id)
——left join mc step ms on msr.step id = ms.id

inner join sr timetable res group trg on sf.timetable id=trg.id
left outer join md appointment a ON ( st.ticket id = a.id )

where s.bdate = sf.datel And s.Edate = sf.dateZ and

a.ld=sf.app 1d

and trg.group 1d=(case when a.1s loaded then 1 when a.ils received then 2
end

)




Query 1, lack of code style, register

SELECT

s.1d AS 1d, coalesce(s.bdatetime, sf.bdatetime)::date 45 bdate,
(select mp.id from md profile mp where code='1l') mp

, (case when s.1s main = true then true else false end) 1s mailn

from sr session s

JOIN sr shift sf ON (s.shift id = sf.1id)
——left join mc step ms on msr.step id = ms.id

inner join sr timetable res group trg on sf.timetable id=trg.id
left outer join md appointment a ON ( st.ticket id = a.id )

where s.bdate = sf.datel And s.Edate = sf.dateZ and

a.ld=sf.app 1d

and trg.group 1d=(case when a.1s loaded then 1 when a.ils received then 2
end

)




Query 1, lack of code style, spaces

SELECT

s.1d AS 1id, |coalesce(s.bdatetime, sf.bdatetime)::date AS bdate,
(SELECT mp.id FROM md profile mp WHERE code='1l') mp

, (CASE WHEN S.iS_main = TRUE THEN TRUE ELSE FALSE END) iS_main

FROM sr sesslon s

JOIN sr shift sf ON (s.shift id = sf.1id)
——left join mc step ms on msr.step id = ms.id

INNER JOIN sr timetable res group trg ON sf.timetable id=trg.1id
LEFT OUTER JOIN md appolntment a ON ( st.ticket id = a.id )

WHERE s.bdate = sf.datel AND s.edate = sf.dateZ AND

a.ld=sf.app 1d

AND trg.group 1d=(CASE WHEN a.1s loaded THEN 1 WHEN a.l1s received THEN 2
END

)




Query 1, lack of code style, commented code

SELECT
s.1d AS i1d, coalesce(s.bdatetime, sf.bdatetime)::date AS bdate,
(SELECT mp.1d FROM md profile mp WHERE code = '1') mp

, (CASE WHEN S.is_main = TRUE THEN TRUE ELSE FALSE END) is_main
FROM sr sesslon s
JOIN sr shift sf ON (s.shift id = sf.id)
——left join mc step ms on msr.step id
INNER JOIN sr timetable res group trg ON sf.timetable 1d = trg.1id
LEFT OUTER JOIN md appolntment a ON ( st.ticket id = a.id )

WHERE s.bdate = sf.datel AND s.edate = sf.dateZ AND

a.id = sf.app 1id I

AND trg.group 1d = (CASE WHEN a.ls loaded THEN 1 WHEN a.ls recelved THEN 2
END

)




Query 1, lack of code style, commas

SELECT
s.1d AS i1d, coalesce(s.bdatetime, sf.bdatetime)::date AS bdate,
(SELECT mp.1d FROM md profile mp WHERE code = '1') mp

, (CASE WHEN S.is_main = TRUE THEN TRUE ELSE FALSE END) i%;main

FROM sr sesslon s

JOIN sr shift sf ON (s.shift id = sf.id)

INNER JOIN sr timetable res group trg ON sf.timetable 1d = trg.id
LEFT OUTER JOIN md appolntment a ON ( st.ticket id = a.id )

WHERE s.bdate = sf.datel AND s.edate = sf.dateZ AND

a.id = sf.app 1id

AND trg.group id = (CASE WHEN a.ls loaded THEN 1 WHEN a.ls recelved THEN 2
END

)




Query 1, lack of code style, brackets

SELECT
s.1d AS id, coalesce(s.bdatetime, sf.bdatetime)::date AS bdate,
(SELECT mp.1d FROM md profile mp WHERE code = 'l') mp,

(CASE WHEN S.is_main = TRUE THEN TRUE ELSE FALSE END) is_main
FROM sr sesslon s
JOIN sr shift sf ON s.shift id = sf.id)|
INNER JOIN sr timetable res group trg ON sf.timetable 1d = trg.id
LEFT OUTER JOIN md appolntment a ON ( st.ticket id = a.id )

WHERE s.bdate = sf.datel AND s.edate = sf.dateZ AND
a.lid = sf.app 1d AND

trg.group 1id = (CASE WHEN a.l1s loaded THEN 1 WHEN a.l1s recelved THEN 2

END
)



Query 1, lack of code style, joins

SELECT
s.1d AS 1d, coalesce(s.bdatetime, sf.bdatetime)::date AS bdate,
(SELECT mp.id FROM md profile mp WHERE code = '1') mp,

CASE WHEN S.is_main = TRUE THEN TRUE ELSE FATLSE END is_main
FROM sr sesslon s
JOIN sr shift sf ON s.shift id = sf.id
INNER JOIN sr timetable res group trg ON sf.timetable id = trg.id
LEFT OUTER JOIN md appolntment a ON st.ticket 1d = a.1id

WHERE s.bdate = sf.datel AND s.edate = sf.dateZ AND
a.id = sf.app i1d AND
trg.group id = CASE WHEN a.is loaded THEN 1 WHEN a.is received THEN 2
END




Query 1, lack of code style, blocks

SELECT
s.1d AS id, coalesce(s.bdatetime, sf.bdatetime)::date AS bdate,
(SELECT mp.id FROM md profile mp WHERE code = '1') mp,

CASE WHEN S.is_main = TRUE THEN TRUE ELSE FATLSE END is_main
FROM sr sesslon s
JOIN sr shift sf ON s.shift id = sf.id
JOIN sr timetable res group trg ON sf.timetable id = trg.id
LEFT JOIN md appolntment a ON st.ticket 1id = a.1id

WHERE s.bdate = sf.datel AND s.edate = sf.dateZ AND
a.id = sf.app 1d AND

trg.group 1d = CASE WHEN a.1s loaded THEN 1 WHEN a.1s recelved THEN 2
END




Query 1, structure

SELECT
_columns, subqueries, calculations,
FROM (
SELECT columns, subqueries, calculations,

FROM tablel t1
JOIN table2 t2 ON conditions
LEFT JOIN table3 t3 ON conditions

WHERE conditions
UNION ALL
SELECT

)
WHERE conditions

ORDER BY columns LIMIT 1limit




Query 1, remove simple

SELECT
I93737,
p.1id,
1.surname,
age (CURRENT_DATE, birth dt) age,
(SELECT mct.id FROM mc case type mct WHERE code = '1'"),
(SELECT g.name FROM pim gender g WHERE g.id = 1.gender 1id)
AS gender
FROM pcli patient p
JOIN pim individual 1 ON 1.id = p.1id




Query 1, remove redundant

SELECT
CASE
WHEN condition = TRUE THEN TRUE
ELSE FALSE
END |

SELECT t.id AS id FROM tablel t;




Query 1, simplification

SELECT 1.1d FROM pim individual 1
WHERE
i.birth dt >= to date('2010-01-01', 'yyyy-mm-dd') AND
i.birth dt <= now() : : DATE;

SELECT
'address:' || concat(' " || city, ', " || street, ', ' ||
house, ', " || flat)

FROM indiv adress;




Query 1, reduce subqueries count.

SELECT
COALESCE (
(SELECT value FROM pim indiv contact pic?2
WHERE pic2.1indiv 1d = ssrr.patient 1d AND pic2.type 1id = 2 AND
15 maln
ORDER BY pic2.id ASC LIMIT 1),
(SELECT value FROM pim indiv contact pic3
WHERE pic3.1indiv 1d = ssrr.patient 1d AND pic3.type 1d = 2
ORDER BY pic3.id ASC LIMIT 1)

)
FROM (...) ssr




Query 1, reduce subqueries count.

(SELECT value FROM pim indiv contact pic2
WHERE pic2.indiv id = ssrr.patient id AND pic2.type id
15 maln
ORDER BY pic2.id ASC LIMIT 1),
(SELECT value FROM pim indiv contact pic3

WHERE pic3.indiv id = ssrr.patient id AND pic3.type id

ORDER BY pic3.id ASC LIMIT 1)

FROM (...) ssr



Query 1, check left join

SELECT

(SELECT peprg.id FROM sr res group srgrg
LEFT JOIN pim employee position peprg ON
srgrg.responsible 1d = peprg.id

WHERE srgrg.id = ssrr.serviceRendered resGroupld)

FROM (...) ssr




Query 1, check left join

SELECT

(SELECT peprg.id FROM sr res group srgrg

EEEEIJDIN pim employee position peprg ON
srgrg.responsible 1d = peprg.id

WHERE srgrg.id = ssrr.serviceRendered resGroupld)

FROM (...) ssr




Query 1, to join & raise

SELECT ..
FROM sr session s
JOIN sr shift sf ON s.shift id = sf.id
JOIN sr timetable res group trg ON sf.timetable i1d = trg.id
LEFT JOIN sr session ticket st ON s.id = st.session id
LEFT JOIN md appolntment a ON st.ticket id = a.id
LEFT JOIN sr srv rendered ssr ON a.srv rendered 1d = ssr.id
LEFT JOIN md srv rendered msr ON ssr.id = msr.id
LEFT JOIN sr res group srg ON trg.res group id = srg.id
WHERE srg.i1d = 56304 AND ssr.i1d IS NOT NULL




Query 1, to join & raise

SELECT

FROM
JOIN
JOIN
LEFT
LEFT
LEFT
LEFT
LEFT

WHERE srg.

e

Sr sesslon s
sr shift sf ON s.shift id = sf.id
sr timetable res group trg ON sf.timetable id = trg.id

JOIN
JOIN
JOIN
JOIN
JOIN

sr session ticket st ON s.1d = st.session 1d

md appolntment a ON st.ticket id = a.id

sr srv rendered ssr ON a.srv rendered 1d = ssr.id
md srv rendered msr ON ssr.id = msr.id

sr res group srg ON trg.res group 1d = srg.1id

1d = 56304 IAND

ssr.id IS NOT NULL



Query 1, to join & raise

JOIN md appolintment a ON st.ticket i1d = a.id

JOIN sr srv rendered ssr ON a.srv rendered i1d = ssr.i1d

LEFT JOIN md srv rendered msr ON ssr.id = msr.id

LEFT JOIN md appolntment source aps ON aps.id = a.source 1d

CREATE TABLE public.md appolntment

=T

source 1d integer not null

) ;




Query 1, to join & raise

JOIN md appolntment a ON st.ticket id = a.id
JOIN Sr_srv_rendered ssr ON a.srv_rendered_id = gsr.id
LEFT JOIN md srv rendered msr ON ssr.id = msr.id

JOIN md appolintment source aps ON aps.id = a.source 1d

CREATE TABLE public.md appolntment

source 1d integer not null

) ;




Query 1, join to where

SELECT mr.1d

FROM md srv rendered mr

LEFT JOIN mc case mc ON mr.case 1d = mc.1d

LEFT JOIN mc case type mct ON mct.ld = mc.case type 1d

WHERE
(msr.case 1d IS NULL OR mct.case mode 1d = 1) AND




Query 1, join to where

SELECT mr.1d

FROM md srv rendered mr

LEFT JOIN mc case mc ON mr.case 1d = mc.1d

LEFT JOIN mc case type mct ON mct.ld = mc.case type 1d

WHERE
(msr.case 1d IS NULL OR mct.case mode 1d = 1) AND




Query 1, to CTE

SELECT
FROM sr res group srg
LEFT JOIN sr res group srgr ON srgr.group 1d = srg.id
WHERE srgr.resource 1d IN (
SELECT peprl.id
FROM pim employee position resource peprl

WHERE peprl.employee position id = 93737)




Query 1, to CTE

SELECT
FROM sr res group srg

LEFT JOIN sr res group srgr ON srgr.group 1d = srg.1id
WHERE srgr.resource 1d IN (

SELECT peprl.id

FROM pim employee position resource peprl

WHERE peprl.employee position id = 93737)




Query 1, before & after

M Execution time M 1/O read time ™ Buffers read

ANy
BEFORE: AFTER:
m Execution time: 252538.276 m Execution time: 2505.585
mI/O Timings: read=184174.054 w Buffers: shared hit=108600

W Buffers: shared hit=1300418 read=2277211




Query 2

SELECT

j.id, :

j.clinic record order, BEFORE:

j.date_in, Execution time: 3128.572

concat (j.order report, ' ', Buffers: shared hit=11763
te char (j.order_report_date, rows=26

J.rec_guantity,
CASE
WHEHN j.is from f3s I5 TRUE THEN (j.rec quantity - d.count used blank)
ELSE j.rest gquantity
EHND,
CASE
WHEH (J.is from f33 IS5 NOT TRUE)
THEH '-'
ELSE d.count used blank::varchar
EHND,

{

SELECT



Query 2, localization @ PTJ/la6¢

FrEYNNa KOMIOAHMI

SELECT

J.id,

j.clinic_record order,

j.date_in,

concat (j.order_report, ' ',
to char (j.order_report date, 'dd.mm.yyyy')),

j.rec_guantity,

CASE
WHEN j.is from £33 IS TRUE THEN (j.rec_guantity - d.count _used blank)
ELSE j.rest_quantity

END,
CASE
WHEN (j.iz_from fzs IS HOT TRUE)
THEN '-'
ELSE d.count_used blank::varchar
END,
{
SELECT
array to string (ARRAY |
SELECT
CASE
WHEN r.end num IS5 NULL THEN r.start_num::text
ELSE CONCAT (r.start_num, '-',
r.end num)
END
FROM
3ickdoc.b3o_record_range r
WHERE
r.rec_record id = j.id), ': ")),
SELECT

concat {i.surname, " ' ||
LEFT ({i.name,
1)
[ I B
LEFT (i.patr_name,

a1




Query 2, localization

select
exists (
select from sickdoc.bso record range brr
where
exists (

select from sickdoc.sickdoc s

where
clinic 1d = 304 and
left(s.number, 9) !'= "' and

left(s.number, 9)::bigint between
brr.start num::bigint and
coalesce (brr.end num, brr.start num)::bigint
) and brr.rec record i1d = j.1id)

from sickdoc.bso rec record j

where
j.clinic id = '304"

a



Query 2, localization

select
exlists (
select from sickdoc.bso record range brr
where
exlists (

select from sickdoc.sickdoc s

where
clinic 1d = 304 and
left (s.number, 9) !'= "' and

left(s.number, 9)::bigint between
brr.start num::bigint and
coalesce (brr.end num, brr.start num)::bigint
) and brr.rec record i1d = j.1id)

from sickdoc.bso rec record j

where
j.clinic 1d = '304"




Query 2, optimization

LEFT (s.number, 9)::BIGINT BETWEEN brr.start num::BIGINT
AND COALESCE (brr.end num, brr.start num) : :BIGINT




Query 2, change total query

FROM
sickdoc.sickdoc s
WHERE
clinic i1d = '304'
AND

LEFT (s.number, 9)
I— o
AND
LEFT (s.number, 9)::INT BETWEEN brr.start num::BIGINT
AND COALESCE (brr.end num, brr.start num) ::BIGINT
AND brr.start num::BIGINT <= 999999999)
AND brr.rec record id = j.id), COALESCE (j.1s from fss, FALSE)

sickdoc.bso rec record ]

LEFT JOIN LATERAT (
SELECT




Query 2, before & after

J |

BEFORE : AFTER:
®m Execution time: 3128.572 m Execution time: 15.803
m Buffers: shared hit=11763 m Buffers: shared hit=9973




Query 3 @ PTla6e

FrEYNNa KOMIOAHMI

SELECT
receiptl .id AS col 0 0 ,
COATESCE (organizatile .S5HORT MaME, o
nganizaziIE_.EULL:Hm{E} .;S col 1 0, BEFORE *
recelptiypli .name AS col 2 0 Execution time: 1754.404
receiptl .issue dt AS col 3 0 ,
patientl0 _.id AS col 4.0, Buffers: shared hit=1248905

individualll .pame AS col 5 0 ,

individualll .surname AS col & 0 ,
individualll .patr name AS col 7 0 ,
individualll .birth dt AS col & 0 ,
fundingsouZ .name BS col 9 0 ,
receiptper3 .name AS col 10 0 ,
receipt]l .szeriesz AS col 11 0O ,
receipt]l .number AS col 12 0 ,
diagnosis4 .name AS col 13 0 ,
diagnosis4 .code AS col 14 0 ,
medicalroot 1 .mame AS col 15 0,
receiptl .canceled AS col 16 0,
COALESCE (organizatid_.SHORT NAME,
organizatis_ .FULL NBME} AS col 17 0 ,
individual® .id AS col 18 0 _,
individual® .name AS col 19 0 ,
individual® .surname AS col 20 0 _,
individual?® .patr name AS col 21 0,
receiptimpl .id AS col 22 0 _,

receiptimp( .begin date AS col 23 0 ,



Query 3, localization @ PTNa6c¢

FrEYNNa KOMIOAHMI

SELE

iceipt.l_. id AS col 0 0,
COALESCE (organizatilé .SHORT_NAME,

organizatilée_.FULL_NAME) AS col_1 0,
receipttypl?_.name AS col_2 0,
receiptl .issue dt AS col_3 0,
patientld .id AS col_4 0 ,
individuall]l .name AS col 5 0,
individualll .surname AS col_& 0 ,
individualll .patr name AS col 7 0,
individualll_.kirth_dt AS col_2_0_,
fundingsou? .name AS col_9 0,
receiptper3_.mame AS col 10 0,
receiptl .series AS col_ 11 0,
receipt]l .number AS col_ 12 0,
diagnosis4 .name AS col 13 0,
diagnosis4 _.code AS col_14 0,
medicalrood 1 .name AS col 15 0,
receiptl .canceled AS col 16 0,
COALESCE (organizatii_.SHORT_NAME,

organizatis . FULL WAME) AS col 17 0,
individuald .id AS ecol 18 0,
individual?® .name AS col 19 0 ,
individuald .surname AS col_20 0 ,
individual’d .patr name AS col 21 0,
receiptimp0 .id AS col 22 0,
receiptimp0 .bkegin date AS col 23 0,
receiptimpl_.is_deferred AS col_24 0_,
receiptimpl_.deferred date AS col 25 0,
{

SELECT

md receipt get medicines (receiptl_.id)) AS col_26 0,
benefittypl3 .name AS col 27 0,
benefitdefld4 .name AS col 28 0,
receipttypl7_.code AS col_25% 0_
FROM




Query 3, localization

select

md recelpt get medicines(r.1id)
from
md recelpt r
where
(r.case id — '{43304249"
or r.step id in (
select
id
from

mc step
where

case id = '43304249'"))




Query 3, use denormalization

SELECT
md receipt get medicines (1d)
FROM md receilpt
WHERE
case 1d = '43304249'

step 1d IN
(SELECT i1d FROM mc step WHERE case 1d = '43304249')




Query 3, all changes

LEFT OUTER
LEFT OUTER
LEFT OUTER
LEFT OUTER
LEFT OUTER
LEFT OUTER
LEFT OUTER
LEFT OUTER
LEFT OUTER
LEFT OUTER
LEFT OUTER

JOIN
JOIN
JOIN
JOIN
JOIN
JOIN
JOIN
JOIN
JOIN
JOIN
JOIN

pim room medicalrocté 1 ON medicalroot .id = medicalroot 1 .id

pim employee position employeeto7  ON receiptl .employee position id = employeeto7 .id
pim employee employeef ON employeeto7 .employee id = employeef .id

pim individual individual® ON employeef .individual id = individual8 .id

pim party individual9 1 ON individuall .id = individuwal® 1 .id

pci patient patientld ON receiptl .patient id = patientl0 .id

pim individual individualll ON patientl) .id = individualll .id

pim party individualll 1 ON individuwalll .id = individuwalll 1 .id

pci benefit benefitl2 ON receiptl .benefit id = benefitl2 .id

pci benefit type benefittypl3 ON benefitlZ .benefit type id = benefittypl3 .id

pci benefit definition benefitdefl4 ON benefitlZ .benefit def id = benefitdefld .id,

md clinic clinicl5 , @,

pim organization organizatilé

INNER JOIN pim party organizatilé 1 ON organizatilé .id = orgamizatile 1 .id,

md receipt type receipttyplT

WHERE

receiptl .clinic id = clinicli .id

BND clinicl3 .id = orgamizatilé .id

AND receiptl .type id = receipttypl7 .id
BAND (receiptl .case id = '4330424%°

OR receiptl .step id IN |
SELECT

ORDER BY

casestepld .id

FROM

mc step casestepld

WHERE

casestepld .case id = '43304249'))

receiptl .id

LIMIT '15';

&

PT/Na6b¢

FrEYNNa KOMIOAHMI



Query 3, before & after

Ay
Ay
BEFORE: AFTER:
" Execution time: 1754.404 W Executlion time: 0.189

m Buffers: shared hit=1248905 m Buffers: shared hit=21




Query 3, comeback

SELECT
receiptl .id AS col 0 0 ,
COALESCE (organizatilé .SHORT NAME,
organizatilé .FULL NAME} AS col 1 0 ,
receipttypl? .name AS col 2 0 ,
receiptl .issue dt AS col 3 0 ,
patientld .id AS col 4 0 ,
individualll .name AS col 5 0 ,
individualll .surname AS col &6 0 ,
individualll .patr name AS col 7 0 ,
individualll .birth dt AS col E 0 ,
fundingsouZ .name AS col & 0 ,
receiptper? .name AS col 10 0 ,
receiptl .series AS col 11 0 ,
receipt]l .number AS col 12 0 ,
diagnosis4 .nmame AS col 13 0 ,
diagnosis4 .code AS col 14 0 ,
medicalrooté 1 .name AS col 135 0 ,
receipt]l .canceled AS col 16 0 ,
COALESCE (organizati) .SHORT NAME,
organizatid .FULL HAEME)} AS col 17 0 ,
individual® .id AS col 18 0 ,
individual® .pame AS col 185 0 ,
individual® .surname AS col 20 0 ,

individual® .patr name AS col 21 0 ,

—_— e e e o A= A =] =g T My




Query 3, comeback

receiptimpl .begin date AS col £3 U ,
receiptimpl .is deferred AS col 2

receiptimpl .deferred date AS col

SELECT
md receipt get medicines (receiptl .id)) AS col 26 0 ,

SELECT
md receipt get count (receiptl .id)) AS col 27 0 ,

SELECT
md receipt get form type(receiptl .id)) AS col 28 0 ,

benefittypl3 .name AS col 29 0 ,
benefitdefl4 .name AS col 30 0 ,

receipttypl? .code AS col 31 0



Query 3, comeback PT/1abc

) FrEYNNa KOMIOAHMI

@

declare
element record;
result text := '';
begin

for element in
select coalesce(h.name trade, i.name_rus} as name
from md receipt medicine m

left join inv holding h on h.id = m.holding id

left join inv inn 1 on i.id = m.inn id
where m.receipt id = md receipt get medicines.id
loop
if re=sult <> ''" then
result := result || '"; ' || element.nams;
el=ze
result := element.names;
end if;
end loop;
if result = '' then

return null;
end if;

return result;

end;




Query 3, Resume

Make readable, what you need to read

EXPERIMENT!




